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Name

Class

Date

Practice

Form G

Multiplying and Factoring

Simplify each product.
1. 2x(x + 8)

4. -b*(b-10)
7. 407 =61+ 2)
10. —2(21* + 41 - 8)

13. 4’ (2v* = 3v+ 5)

2

.(n+T7)5n
.=3¢c(8+2¢c - )

. —m(4m’ - 8m* + m)
2k(=3K + K- 10)

. 5d(=d" +2d° = 3d)

Find the GCF of the terms of each polynomial.

16. 15x +27

19.72)° + 18)*
22. b+ 5h° - 20b
25. 202+ 12¢ =22

28. 84" +244° - 404

Factor each polynomial.

31.12x -9

34, 20w + 16w

37. 1278 = 36n° + 18

40. 15¢* + 24" - 6% 1 12¢
43.36p" +14p° +35p°

46, x° —x' +x*

17

20.

23.

26.

29,

32.

35.

38.

41.

44,

47.

6w’ = 14w

~184" - 6¢°
O’ 4+ 30m —24
145 + 216> - 42b

36j° - 3/°— 15

185+ 54

32y + 8y

407> +25¢ + 801
8m’ + 14m* + 6m
9a° +274" + 63a°

34’ +51g° + 17g

3. 61%(7 + 1)

6. ¥(2)* =3y +6)

9. 7j(-2/ - 8j - 3)
12. 8a*(—a’ +Ta-17)

15. 1lw(w’ + 2w + 6)

18. 635 + 45

21.108/° - 54
24.4p° +12p* — 18p
27. —12x" +24x* — 16x

30. 12/° +30/' - 6/

33. 1087 - 601

36. 300d" - 175d

39. 42x" — 56x" +28x"
42. 10x* +50x — 25
45. 4b* +206° + 126

48. 184" =271 + 18h
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Name Class Date

49,

50.

8-2

Practice Form G

Muiltiplying and Factoring

(continued) Ama 0_‘; p CWC‘@ ~ Il\ff

A circular hedge surrounds a sculpture on a square base. The
radius of the hedge is 6x. The side length of the square sculpture
base is 4x. What is the area of the hedge? Write your answer in
factored form.

7

Suppose you are making a giant chocolate chip cookie for a raffle. You roll out a
square slab of cookie dough. Then you use a circular plate that touches the edges
of the square slab of cookie dough and cut the cookie out of the dough. What is
the area of the extra dough? Write your answer in factored form.

Simplify. Write in standard form.

51. =3x(4x" — 6x + 12) 52. -7y (-4’ + 6y) 53. 9a(=3a> +a - 5)
54. p(p +4) - 2p(p - 8) 55. 1(t+4) + (47 = 2) 56. 6¢c(2¢ - 4) — ¢(8¢)
57. =5m(2m’ = Tm* + m) 58.29(g+ 1) —g(g-1) 59. —n’(=61" + 21)

Factor each polynomial.

60.

63.

66.

69.

70.

7.

15xy" + 60x%y° 61. 8m’n* + 32mn’ 62.262°b*+51a*
367" + 24K 64. 12wy’ — 42wx’ 65. 54°d" - 364
12s6* + 4657 67. 9w’ + 33v*w° 68. 11¢°+ 1326
Error Analysis A student factored the polynomial at the right.

Describe and correct the error made in factoring. 63x%~ 14x3 +35x2
= 7X(9x3 - 2x%+ 5x)

Reasoning The GCF of two numbers j and k is 8. What is the GCF of 2j and
2k? Justify your answer.

A cylinder has a radius of 3m’n and a height of 7mn. The formula for the
volume of a cylinder is ¥ = nr?h, where r is the radius and / is the height.
What is the volume of the cylinder? Simplify your answer.
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Name Class Date
8 2 Practice Form G
Multiplying and Factoring
Simplify each product.
1. 2x(x + 8) 2. (n + 7)5n 3. 6h%(7 + h)
2x* + 16x 5n? + 35n 6h° + 42h¢
4. —b3(b — 10) 5. —3c(8 + 2¢ — c3) 6. y(2y2 — 3y +6)
—-b3 + 10K2 3t — 6t — 24; 3V By
7. 4t(t2 — 6t + 2) 8. —m(4m - 8m? + m) 9. 71( 21 - 8] - 3)
1 )’" + B o 11 ] 4 s:,r.‘! I 1'|. 56/% 1]
10. —zz(zz4 + 4t — 8) 1. 2k(—313 + K2 - 10) 12. 8a%(—a’ + 7a — 7)
2tf — 43 + Bt —~6k3 + 2K 20k B8a® + Sha’ 56
13. 45212 — 3v + 5) 14, 5d(—d3 + 2d% — 3d) 15. 1lw(w? + 2w + 6)
B 12V 2007 Sgt + 1047 15¢1~ 1 !

Find the GCF of the terms of each polynomial.

16.

19.

22,

25.

28.

15x + 27

;2y5 + 18y2

”4',1 :
b3 + 562 — 20b

i
(4]

2¢% + 12e — 22

8at + 2443 — 40a®

Ba“

Factor each polynomial.

31.

34,

37.

40.
c(S5c+ B ) 4
43, 36p* + 14p° + 35p
pe36pe + 14p = 35)
46. 3% = P+ o

12x — 9

3(dx 3)

—20u? + 16w
dw(5w — 4)

12n% — 36n% + 18

6(2n~ 6n“ + 3)

15¢* + 24¢® — 62 + 12¢

17.

20.

23.

26.

29.

32.

35.

41.

44,

47.

6w’ — l4w
;:.\'l’
_18q3 — 6q2
Hr‘r:'
Im3 + 30m — 24
1453 + 21b% — 42b
7h
36/3 — 372 — 15j

3

18s% + 54
18(s< 4 3)
32y3 + 8)?

yiay + 1)

. 4083 + 251 + 80¢

S5H{Bt% + 5t + 16)
8m3 + 14m? + 6m
_-‘”,l,ﬂm': + Im + 3)
9a° + 27a* + 634>
gat(a® + 3at + 7)
34g° + 51g> + 17g

79(2g% + 3g + 1)

18.

21.

24.

27.

30.

33.

36.

39,

42,

45.

48.

63s + 45

1083 — 54
4p® + 12p% — 18p

2D
P

—12x3 + 24x2 — 16x

A
4

128 + 30/* — 6

6f°

1082 — 60t

121(8¢ - 5)

30042 — 175d
25d(12c 1

42x* — 56x3 + 2822

10_\:2 + 50x — 25
4b4 + 20b3 + 12b
abhib® + 584+ 3)
18h* — 27K% + 18h

(243
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Name Class Date

8 2 Practice {continued) Form G
- ~
Multiplying and Factoring A = e 2L
49. A circular hedge surrounds a sculpture on a square base. The
radius of the hedge is 6x. The side length of the square sculpture /T‘ ( /Q \/\/

base is 4x. What is the area of the hedge? Write your answer in

factored form. 4x%(9r — 4) ( [Q Y) L_f ]CCLh(/

50. Suppose you are making a giant chocolate chip cookie for a raffle. You roll out ﬁ (QW /?___
a square slab of cookie dough. Then you use a circular plate that touches the T

edges of the square slab of cookie dough and cut the cookie out of the dough. Z(Q /\r )7[
What is the area of the extra dough? Write your answer in factored form. (4 — r) L}' >< “&

2 2. Simplify. Write in standard form.
o
= T[ r 51. —3x(4x% — 6x + 12) 52. —7y4(—4y + 6Y) 53. 9a(—3a% + a — 5)
Z Z 3 2 i s
1o N\ ( r 21253+ 18x% = 36x 28y>n=142y>
j g ' 54. p(p + 4) —2p(p — 8) 55. #(t + 4) — ({42 — 2) 56. 6¢(2c% — 4) — ¢(8c)
N 2 r Z- Zp2 4 20p =437 2 et
= = I 57. —5m(2m3 — 7Tm? + m) 58. 2q(q + 1)—q(qg — 1) 59. —n2(—6n% + 2n)

) 2‘( Ihl'_“ "H> ~10m* +35m3 — 5m” gte+3q 5

Factor each polynomial.

60. 15xy* + 60x%° 61. 8m3n* + 32mn? 62. 26a°h? + 51a*
1Sxy3(y '+ 4x) 8mni(m2n? ' 4) 24(2656294757)

63. 36/2k* + 24/%k? 64. 12w — 42wx? 65. 54c%d> — 36c3d?
12j4Kk2(3K2 41 2/2) 6Wx2(2wW3x — 7) 1862043 dr="24)

66. 12st* + 46534 67. 9% + 33v4uP 68. 11e3/3 + 132¢2f*
25046 ghed 357 3IVEWSEV2 + 11w?) 11e2f3(a + 12f)

69. Error Analysis A student factored the polynomial at the L _
right. Describe and correct the error made in factoring. 63x*~.14x3 +35x2

, = 75(953 — oy,
Thesstudent didinot find the correct GCF 7x2(9x% = 2x '+ 5) -fzx(%___dx__—'h_e_ﬁi-).__

: Qlill has &
70. Reasoning The GCF of two numbers j and kis 8. What is the GCF of 2j and — [
2k? Justify your answer. 16 The GCF will be the product of 2 and 8. ,QL, 18 f',:_w-( o1 %

71

71. A cylinder has a radius of 3m?n and a height of 7mn. The formula for the
— volume of a cylinder is V = mr*h, where ris the radius and h is the height.

\ What is the volume of the cylinder? Simplify your answer. 637m”n° -
Y M
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